
                                                   

[                               ] 

                     Problem Statements by Harish Chandra Rajpoot  

1. A given word having total     number of letters, out of which numbers of 

repetitive letters are               then total number of the words 

formed by permuting all the letters together is given as  

  
  

          
 

If these words are arranged in the correct alphabetic order then what will be 

alphabetic order (say Rank (R)) of any of the words formed in that alphabetic 

arrangement? 

2. Similarly, a given positive integral number having total     no. of non-

zero digits, out of which no. of repetitive digits are               then 

total no. of the numbers (permutations) formed by permuting all the 

digits together is given as 

  
  

          
 

If these numbers are arranged in increasing or decreasing order then what will 

be increasing or decreasing order (say Rank (R)) of any of the numbers formed 

in that numeric arrangement? 

Is there any set-formula for solving equally both the problems above? 

A set-formula has been derived for solving both the problems above. It is used to find out 

the alphabetic or numeric order of any word or positive integral no. is given as follows 
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In above formula, the symbols have unusual meanings as                           

                                                     but usual way to find out their 

respective values. The above formula had been proposed & proved by H.C. Rajpoot which is 

based on inverse relation. It has been explained in his Research Paper.                      


